Maths Fluency Week 1 Day 3

Starters
a)
Here is a Carroll diagram for sorting numbers.
Write these five numbers in the correct places on the diagram.
25 247 7002 49 990
odd not odd
\ a 3-digit
number
not a 3-digit
number
b)

Big Wheel Rollercoaster
£2.50 £1.50
each ride each ride

Liam spends £14 altogether on the Big Wheel and the Rollercoaster.

He goes on the Big Wheel twice.

How many times does he go on the Rollercoaster?



Day 3 Arithmetic

1. 780+100=

2. 94x23=

3. (3+8)x3+2=

4. +84.32=193.22 (W)
5. 8.1+0.9=
5 = y5=

5



